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: GROUP CODE : 3@ 13 Test Booklet Series-B
ol ff22.00.201, ' %
Test Date: 22 0d.2017 st

Generalist Full Marks: 200

WM E T T 10:00 Hes, T Hafir 300 wob

Test Duration: 3 Haours

R B 2 P I [ e ——— " e e
Candidates are requested to read the following instructions carefully
1 memmnMrﬁ*mmmﬂmam.
Do not open the Seal of the Test Booklet until you are instructeg by the Invigilator
o A mﬁrmtmwﬁﬂmmtmvmmmmmm F oy w |
Use Blue/Black Ball Paint Pen only for marking the circles in the OM& Answer Sheet
3 mwmtsﬁamummﬂmmmm.mmmmlmw
wmwwmmﬁmm;maﬁmmnami

Please write down your Roll No. and Test Booklet Serles in the OMR Answer Sheet correctly for

your Answer Sheet. Da not write your name or any other details (which is not asked) on the questi
Answer sheet,

I A 120 agaE w#[w#wTﬂﬁﬂﬂthT#ﬂuntwaﬂmm,qﬁﬂmm
m,ﬂnmm,mmw{mﬁammmmtﬂﬂﬁmmhwmmmzﬂm

proper evaluation of
on booklet and OMER

Rdwor | et # smew o smfta @
There are 120 objective Type questions in the Booklet (Question No. 1 - 120). Question Mo. 1 - 80 would carry ane mark each on
Reasoning Ability, Quantitative Aptitude & Computer Knowledge & General Awareness and from Question No. 81 - 120 carry 2 marks
each. Professional Knowledge — for Group A to F. General Awareness Test in lieu of professional knowledge test for candidates
belonging ta Group G. The additional topics covered in this part will be - [a) Data Sufficiency (b) Analysis of Information/analytical
ability (c} Data Interpretation.

5 T 30 & fAv wonenE ww A E
There are no negative marks for any incorrect answer,

6. S 9 ¥ 4 PEey RY il E GeA & b ow o | Pecan af s 8 R 3T 3 e e £ | @l s
Pt a3 & T & A # e e &t
There are four options against each objective question out of which one is correct /closest and the other three are
wrong. Fill the circle corresponding to the correct / closest option only.

UF O & UF 3§ W 3T & ov g speafest A B e |
Multiple answers given against one guestion will not be considered for evaluation,

RN e & 7 o Afd & = o A § AW B - e s
Do not fold, cut, mutilate or put any stray marks on the OMR Answer Sheet.

HNEHI ol v gftewr & ik e a1 e

Do not N:m::t :1':: !CI::: mweﬁ-‘.hnt. It may be done an the back side of the Question Booklet.

T ol & wet & g ofen qffaer, s dhe e ol g OF GEEEE F & gRNE w1

Please ensure that you have returned the Test Booklet, OMR Answer Sheet along with the Original Admit Card 1o

the Invigilator before keaving the Examination Hall

11. htd--h-ﬂmanu#nm.mmwm#mwm#mg
H‘r"“mmhhim?&luuwﬂm“m"'”m““mw
hdh“dmmﬂﬂﬂﬂﬂﬂdhhﬂlmi”ﬂﬁﬂ_“'ﬂ- |
m.h#hﬁWIMhmmm!ﬁ:T'm
muuquhmnrmm;;m; ng

nfirdf = I wEia I
. r-;mhhth:MMImﬂmwmﬂmnkﬂd-
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SET-B
General Awarenes

Question number ; | w0 B0 compulsory for all

Hﬂhl.lh!,lﬂii.ﬂil'!,Ehillndlﬂmhtml‘i.‘l!rmlpll' EAT" T
A 39135 B. 13735 C. 39139 T D a4

I'J'HtEil.CBl.DTtEiltﬂmm%aﬂnmﬁmﬂ?
M'ﬂ: B) 1ars C) aonae D) 3141

FE 900 VU, * 1™, Jl 100 RQ
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SET-B
Reasoning Ability, Quantitative Aptitude, Computer Knowledge & General Awarencs

B How many such digits are there in the number S86972 each of which is as far away from the beginning of the number
as when the digits are rearmnged in descending order within the nmumber 7
A, One B. Two
C. Three . More than three
e saeeT W e sl o9 E0 Bl s @ qe o oefua e d aefes den @ o o d )
A 0w B %
C. &= D. #= & wirE
9. Sita was counting down from 32, Mita was counting starting from 1 and she was calling out only the odd numbers.
What common numbser will they call out at the same time if they were calling out at the same speed 7
A 19 B. 21
c.1 D. None of these
#hm x2 @ Frey aes 4 Peen we s #) o @ Peen o sl 8 3R 1w dae A e # 6 dam # e 9 @ Peed ool
e et ) ol et el O Fseel el amm g
A 1w B.
C.z D. awjsn #§ T8
10.

There are five different bouses, A to E, ina row. A is to the right of B and E is to the left of C and right of A. B is to the
right of . Which of the houses is in the middle 7

A A B.E
C.D D.C

A @ E o= dfe man wz g dfda A &)
ABd sl WECd il Ad o I BD@add |l gl d dmd A s @

A A B B
C.C D.D
11. The position of how many letters in the word BRAKFES remain unchanged when they are amanged in
alphabetical order ?
A One B. Twa
C. Three D. Mone of these

BRAKES we @ whon & sgon sme o aiafius fem i a fd s ww gEd e W TN

B. &
2-. :’: D. 5t @ &
[ mﬂﬂﬂhwﬂmmlmmmddnﬂmuﬂs P £9, then what will be the code for DEMOTION?
A. EFNLUPM B. EG B9
C. DSPEY D. EF 89
PROMOTION # o e 1 st & deno i wu A frn . o 99 1 v @ DEMUTION 4 fory wm Rven @y
A. EFNLUPM B. EGE%
C. DSP&9 . EFEY
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SET-B

Reasoning Ability, Quantitative Aptitude, Computer Knowledge & General Aware
13 1E'|'hll'5'lncndnduZ.MY'R then what will be the code for 'Ship® Arence
i B. QFCN C. UIKR D. QIR
JI)
uf "boat" o ZMYR & wha 4 fvon @ i, 9w sie 4 ' i
AYUIGR B) QFCN ®1% 4 Ship' & foru om 1.4¢:!J._{}?.-K|r“1

; 1) (GR
Dhrection : For next 2 quﬂm

In the follovwing two guesti
sark ng q ons, there are two statements followed by & conclusion. You are 1o examine the slatements and
A. if the conclusion is definitely true

C. if the conclusion is definitely false e R v
Fritm = 2 Wl & fE g
Lmﬂh‘hﬁﬂ i e s R R L S R RO T TR e ———— E
- Faftea wem & B, ufy Frav s & ween &)
C. =t Pl Piften ssem dn) D, e o =1l
14. L. Metall i8 a science of study of metals,

II. Most of the metals are solids.
Conclusion : Metallurgy is a science that deals with solids only

L arg Ram wwgalt & smaas e ) 11 sfiysee wig dve o &)
E : oK) RwE 18 e @ W dea o o Ren s od <

13. L. Ram is younger brother of Shyam II. Ram has one sister
Conclusion ; Shyam is younger than his sister.

L wm v o wle &) 1. " ® v a5 §)
et - e aft www & when &)
Dhrection : For next 2 Questions.
ABCD.E & F are sitting along the circle facing the centre
1. B 1% an immediate neighbour of D
IL C is an immediate neighbour of A but is not an immediate neighbour of F
111 A is to the immediate left of B
Frdm : T 2 Wl W a2 g9 33 & g
A,B,C,D,E&F gamer &= o siv ¢ fisg 38 gu @)
I B D a wwdt Prse ol &
I C A wwdt P wdre &, o Fomowedt P saddl =l &)
T AB & ywaw Pz anfl aiw @ 1

16 What is the position of E

A Tothe immediate leftof F B BetweenAand B C. Second to the right of D D. Mone of the above

E o foaily oo & 7

A Fdé gwan Pae ol i B.Avd B @& 4 C.D & afih s gal D. aydw e Al
17. Which of the following is incorrect 7 _ ; :

A, Aissecond o the rght of E B. {:;lwlh:ymwdgnﬂ;u?gz

. B is second to the rght of C D.  Ais to the immediate left o

Pueafefien & @ @9 e @ 7
> & E & =ift-h ain I B. CEE®
g. atCiﬂiﬁm D. A B C# il sl gwen Pre |

Direction : For next 2 Questions,

ﬂnﬂbﬂhpdﬂdudlidulﬂ;wﬁumdhdmmmumuwﬁnumpumdmmm
is cutinto 27 smaller cubes of equal size
rd :*;m:ﬂhﬂl‘ﬂﬂﬂﬁﬂwtﬁt{ﬂﬁﬂll‘lﬂﬂa‘mqi"ﬂﬂllFmﬂﬂi?m1ﬂ1ﬂ"ﬂ'lfﬂ#ﬂ[.h
many smaller cubes will have one face coloured 7
e 5 B.6 ﬁ D. 12
ol i duw o waw ol @A 7
r:# B.s ce 0. 12
19 How many smaller cubes will have exactly one face red and one face white !
vt ek B L vl :

ﬂﬂﬂiﬁﬂ.’-.-.
A T g

UNG: 859260
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Three of the following four are al in w
iy B e a l“ii:n;l certain way and hence from a group. Which one does nat belong to the groun
C.28 D. 51
F‘rr—rlff;;fhn R R LR L T R e T & um g gu A Wl 9@ wenmy
B. 21
C. 28 D. 51
Find that pair of numbers which i
gt ich is mHJl ;:;;t;d to the other three pairs of numbers due to lack of common property
C.57.69 D. 73,61
wanll @ aw W gty @ aw A= 1 AR demd W A @ s R E
A.47.59 B. 4229
C.57,69 D. 73,51

Which number is wrong in the following series 7
1236, 2346,3456, 4566, 5686

A. 1236 B. 3456

C. 4566 D. 5686

Preffinn wf 4 - wom gen #

1236, 2346, 3456, 4566, 5686

A 1236 B. 3456
C. 4566 D, 5686

Diirection : For next 3 Questions.

=

In each of these questions a sequence is given. Choose the succeeding term of the sequence from the four altenatives givenm
each question

a3 welt & g
Frfaften wel o0 o agen §) wols W @ R R o ) g 9 eavedl me A R o am @ ghw

10, 1, 11, 1, 12,1,

A 13 |

C.0 D.2
10.1.91.1.1211

A 13 B. 1

C.0 D2

PRESENT, RESENT, RESEN, ESEN

A. EEN B. S5EN

C. ESE 0. None of these
PRESENT, RESENT, RESEN, ESEN -

A. EEN B.

C. ESE 0. Mone of these
AB, EF, 11, OP

A UQ g'




Direction : For next | Question, Al
th
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SET-R

" e, Computer Knowledge & General Awareness
v o :

Alphabets with numbers E‘:ud bc’l-'amdirl;m:n A to Z are coded into numbers | 1o 76 A word is coded by

. ling the number of letters in il i e replacing ;
e.g. CAT is coded as 31 203, ABC as 1233 and XY7 i 241512{’;:::’&#:-:;?"' :r;rrrlﬂai-“r::.r:ljﬁl.l||m”ﬁ numhber _rll:'l'll::_' l:,'w”'
L 1} AHT r

A 1 W @ g rimique decoding

AW Zow @ sl @ # 26 aial gra Peifee
= | [ e | o W s aefen Paden @
T et e o) s e o w3 ) e i o g 315500 v by L3
T & Aen @il a uftens amwe (i A o e B T T AR n e XYZ

Which of the following can be the code of the word ALPINE 7

Reasoning Ability, Quantitative Aptitud

LR L E T T b

A 12133456 B. 1121691455 :

p C. 1121691456 D. 21
ﬁﬂﬁd’h##m\tﬁLi’m‘Eﬂi‘uﬁlﬂmmt‘? st
A 12133456 B. 1121691455 C. 1121691456 D. 2121801456

Which will come next in the following series 7
EUZ, MOX, OIVQET

A SUR B. SAQ C. RAT
Frafafen ot 4 @z & o7 sy . it

KUZ, MOX, OIV, QET

A SUR B. SAQ C. RAT D. SAR

Direction: For next 2 Questions, Each of the questions below consists of a question and then followed by three statements 1 11 and IT1

frlm:

29,

0.

al.

33

Youhave to decide whether the data provided by in the
ama 2 Wl & famg

thmﬂﬁfn-ﬁ—l.llqﬂtlmxmﬁaE|u.rrwi'ru;mlmflhmmmﬂfa#wam.an-?mﬁﬁg.;-;qhﬂ.'!1-
How is g0’ written in a code language 7
L :mw OF NEVEr again” i written as * tom ka na sa” in that code language.
IL ‘you come again now” is written 28 *ja ka ta sa’ in that code language.
m.lxlmlﬂmwnrm'il‘ﬁheﬁu'mhnhﬂtom‘inl-hl‘tl;ucﬁ',:]n e,
A Onlyland 1T B. Only Il and IIT C. Only 1 and 11 0, E‘II are required to answer the question
“go” UF s W A e oo e oo 8
I-“Now or never again™ =% o wm § “Tom Ka Na Sa” # w4 4 fen man &)
II- *¥ou Come Again Now" a9 &z wm # “Ja Ka Ta Sa" @ wu & fr mm #)
Il]-"jpmgumwmﬂ"\m e wrn # “Na Ho Ka Sa Tom™ & w0 4 Bem oo #)

statemnents are sufficient to answer the questions,

A, dam [yl B. #aa I1wd I C. dime [wa 1 D. w0 5 & o A wh wel @ ssermem ¥
How many daughters does W have 7

L. B and D are sisters of M I Ms father T is husband of W

[II. Ot of the three children which T has, only one is a boy

A, Only 1and I B. Omly 11 and 11

C. All the three sttements are required w angwer the question D. Question cannot be answered even with all I, 11 and [I1
W s dfed B7

I-Bwd D, M # w8 81 I-M & Bm T W aft )

- T & st i awd & daa v agm §)

A daw e I B, dwa & T

C. m‘mihmﬂm-ﬂmh D. e il w1, 11 IO o fm ey oo s <ol fm st vt |

“ Bome leaders are dishonest”, * Satyapriya is  leader . — Which of the following inferences definitely follows from the
ahove two statements 7

A Satyapriya is honest B. Satyapriya is some times dishonest
C. Leaders are generally dishonest [¥ Somes leaders are honest
“m & “woufim s A ¥
gﬂm%imvﬁﬂmu
A wenfn fmear B B. wlts all-wd i &1
C. e anwean: &= @ # 0. mo Jm dweEn @ 2

lt!Smlh.ﬂunh:wtthmﬁ!imd!HnﬁhLMhmhlﬂ

Ram is standing ot P e walks 10 metres towards st then he walks 5 metres towards the North and reaches Q.

metres towards the South, then he walks 20 metres towards the
What is the straight distance between P and € in metres 7 -
A S B. 10 C 15 g 1 S
P & ares s 81 w8 wie @) sy 10 Ace w8, e oftan @ e 20 Aee wom & By e

aive 20 diee e & e @) alie 5 Ay s Q B ure uffum &)

Powd Q & e @b gh ey d Reech @87

Ay wem & B gl @

wyd w#l
e wlry c. 18 D, wegw s people were there
L8 party everyone st shake hands with cach ather If total number of handshakes is 66, then o Y
in the ? 014
1 B.12 gl | | 3 g et i d ?
iﬂ‘“ﬂ‘““‘*-M“m*-m#pm-tmnuﬂ e
A 10 B 12 C. Il

_.'_-___-_'_"_'_.-__.—-l,-.
C no esme
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casoning Ability, Quantitative Aptitude, Computer Knowlege & ¢ T
SRl AWarenesy

gl;“emnn ¢ For next 2 Questions, Unscramble the letters in the given words ar

A 3 Wl & R g 1 waraftum s B Ry i w4 & (e ul fired the odd one

34 Y : N S we oy wip
:I :']I::TT S ARECY C AVVAG D
15 AL YH 'h B A ANDRCT C. AuvAg D :::::l
j e B. PERCOP C. VRIELS ¥
A YBUR B. PERCOP c i L
Direction :  For next 3 Questions. - VRIELS D. LDOG
Given that aiﬁﬂu&ﬁ%ﬂnﬂ of wlauu.r: #Etﬁ%ﬁd by the following relations
GREEN  +BLUE =CYAN
RED + BLUE = MAGENT
RED +GREEN + BLUE =WHITE
Then answer the following questions.
Frm w3 weh @
By m i w e " "
- g - M“Tﬁ‘ﬂﬁfhr;m_e“ﬂm*idlﬁ—-
- +j;'m = s Am
+ e = T
o + BT + e = e
wn Pyafain v & oae S
36.  Which of the following statements is true T
A BLUE +CYAN = WHITE B. MAGENTA + GREEN ="WHITE
C. YELLOW +CYAN =RED D None of the above
frafafn & 9 #99 w ous v &7
A Aren + eRefe = wdw B wedlten el + B = WiE
C. e + sRea = @mm D. 571 ¥ w6
37. Ome of the following statements may be true. Which one it is 7
A Itis possible to get Black Colour by additive mixing of other colours.
B. RED + RED will give us a colour which is more red,
C. By varying the proportions of the component colowrs, we may be able o get many colours
D. None of the above
frfaftse sa-l 4 4 e v &) 78 o W &7
A TE w9g & 5 @ren 9 am @ fan amn it @ dmers B 8
B. @16 + @rd 101 @ e < s are 1 e @
C gew Tl @ aFor § oftedds @ @ e ae 9o o we ¥
D. I wg A |
38, Onec of the following statements is false, Which one is it 7
A. WHITE - RED = CYAN B. WHITE - (YELLOW - GREEN) = MAGENTA
C. YELLOW - GREEN = MAGENTA - BLUE D, None of the above
Frfaftan # 9 ve su aaw #) a8 o ¥
A whE ~ ae = eftfie p. wdg — (fer-gw) = wewan TEd

n qﬂﬂTilndil‘lll!lmi.ﬁ.BEnIﬂlmxﬂ-m!m.m
Ty

srlf & s g Py @

B <) o Y T e e
E‘ﬂfﬂhm I ﬂhiﬂw w1

39, ‘Whichof the following is an invalid code 7

A 13204 B 41573 C. 31254 D. 211633
l: *1::'“ #:.1 a1sT3 c-a:::‘u? 0. 211633

g ﬁ:ﬁ: ':-fm bh“dq:. 1213214 D, None of these
#tm#mml#ﬂ ey

A 133
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i F'-Flgl* 9af 24
REI!!} lng& Hlt}‘ ¥ Co -
n h 1y, Qull‘ll‘ﬂ’lﬂ_l‘ _a".p_'l'lt].ldl.‘. {?nmputcr Knﬂ\‘rlﬂfﬂ & Gen al Aw
. eral A Areness
What is the least number to be added to 33310 make it g perfi
55 ECL square 7

C.78 D. B4

amﬂﬂ-ﬂ—ﬂﬁ“tf‘ﬂi‘lmiﬂﬂﬁqﬂ i & ?
A.m B. s
C.ma [T

If 7 i
0% of a number is equal to 3/5 of another number, what is the ratio between the first

number respectively 7 mumber and second
A3:T B, 67
'C-. T3 D‘. NM orm

hﬁﬁﬁhmﬂﬂ‘nﬂiﬁ'-'ﬂl{ﬂﬁﬁ#ﬂ*;/&iﬂﬂiRﬁwﬁaﬁmﬂmuqmvmﬂ‘--ﬁdﬂyﬁhﬁm1'&--1-'1.!""
A xr B.s:7

C.ra D. 5% w1 =81

A alone can complete a work in 12 days and B alone can complete the same work in 24 days . In how many days can A & B

together complete the same work.
A 6 days B. 10 days
C. 4 days D. None of these

A wdien um &m S 12 B gn s & gd B ol sm B add a0 B 0 go s #) A o B Riast ow e o) B B8 qo

¥ 7
AsRAH B. 10 f& &
C. 4 foi & D. g w7 |

Thcpmﬁ:turmmmuuﬁwuddmmbrnhms.whali-m:gmtcrnm:ber?

A 57 B. 61
63 D. None of these

&) wwad] s semsl @ Qe 40es 1 9 den s § 7

A §7 B. &1

C. 63 0. gl @i A

If (19 is subtracied &mﬂrqmufmbﬂ.&:mmoulimdum. Wha is the number 7
A 131 B. 362

C. 142 D. 364

ﬂmmiﬁﬂ(m‘tmmﬂmmmmhmml?

A g
Cra D. 384

Latest Sarkari Jobs, Govt Exam Results, K
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. 505000 D. 550000
1 w000 @ o weanil w0 e ga g 2
A. 500000 B, so0m00

Page 10 of 24

e & General Awareness

B. Obtuse
D. Equilateral
mi_tniilrl-

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

¥ A

3%



Page 11 of 24

Direction : :':remll':;lumﬁxhlmt the information given below 1o answer these questions
e i a i 1%
ol s ho before his death, divided all his property among all his dssghters. T
o + silver bars and cash. The gold bars were worth L property was in the &

PR ] i R-* 'I- 3
The property was divided as follows - 4000/ each and the silver bars were worth R, | 000/ &

OTTT

Firat daughter received 20% of the total J

; property in the form of gold bars and B ] :

: t A i 8. 25 (i cash ; d 1

dc::::lﬂm 11":}: wu:ui mmb:rmng pmpu'ty_ in the form of silver bars and Re 50,00 ._I-:-:h“Lagrr].u:.mM -Imh:.ﬂ

25,000/ tved equal number of gold and silver bars worth 20% of the total FEMmaining property and cash sy
,(0H)- more than the cashmulved.b}-pruiuu!daughtcr. i

fordfm - T & wrlf B Fag |
1 el @ e o g A ) Ty AT A g |

ﬁﬂ%ﬁmﬁmmwﬁdﬁmmmﬂwﬁaﬁﬁﬂ?ﬂﬂifri’l'nﬂirf"crt-h‘r-ﬂ
. ] u " 'E.l‘ﬂiﬁ..-ﬂ T # 1 [
HHE 0000 Weltan i o wd e 10000 Wb o | sl g wEI Rty @) o ihoind ik llob L b

s ) 4 apm wai o 2o T o) B gd e gs.000 . & et & e fven | el 8 ) e R 2 20% wH) o o T A 50,000 &

& v & g v W &) i i
mﬂz-mﬁmmﬂﬁdlmm #mdam#mudﬂ‘id‘laﬂuddm#mﬁrmdnﬂauﬁ‘f &1 20% @ a paw 2

56. What was the total value of the property 7

A. Rs. 10 lakhs B. Rs. 20 lakhs
C. Bs. 5 lakhs . 60 lakhs
T Wl a0 Hen am w7

AW A b B. 20 & =
C. 5 & o D. 60 &/ w5

57, How many daughters were there in all 7
AS B.6
.3 D4

e ey Rl W o ?
AS B &8
C 3 D4

5B How many gold bars were there in all 7
A 40 B. 24
C.25 D. 26

w P 6 A w2
A 4D 1. 24
15 e

59, How many silver bars did the third daughter receive 7
A 20 B 1o
C. 30 D. 25

Sl 4 A i) o) Reh ol ura @ 7

A.20 B 10
C. ¥ o

How “!,ﬂmﬂumdﬂdﬂﬂm‘”

A 10 H 10
c15 I Mo
#Hﬁﬁﬂ'm*nﬂ?

o B 2

i D. au & A
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Awareness

The first electronic digital computer was conceived by
A. Charles Babbage B. Joseph Maries Jacquard

C. John V. Atansolf 0. Dr. John Manchiy
wun gl ey sy @1 ge 9

A, ared da B. @idw &l S
C. 91 #. srer=llew D. #i Wi &

What is an email attachment 7
A. A receipt sent by the recipient.
B. A separate document sent along with the email

C. A malicious parasite that foeds on the message and destroys the content
D. A list of CC : and BCC : recipients.

§-4 we T 7

A, amgrn g Wl e

B. #-fa Wiwm & wm sor § dan m wenia

C. v e awaliell S w4 1wl w8 g Peo—eep @ e e dm
D. somrn @ CC w4 BOC: ¥[=h

The first stroctured programming language is
A. Basic

B. Fortran

C. Pascal

D. PLA

Which of the following is a single intcgrated .l:im.li.tT
A.CPU "

Latest Sarkari Jobs, Govt Exam Results,

LOCATHON - PATHA Vacancies and updates on one click
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66, Who amongst the following
A. RBI

is the Regulator of Insurance Secior in Inschis 7
B. AMFI

C.IRDA D. SEBI

e A i e Ry g 4 e B

A RBI B. AMFI

C. IRDA D. SEB]

67. Official languages of United Nations Organization are ;
A. English, Chinese, French, Hindi, Russian, Spanish B. Arabic, Chinese, English, Deusch, French, Russian

C. Chinese, English, French, Japanese, Russian, Spanish D. Arabic, Chinese, English, French, Russian, Spanith

e g W W ey 2
A, sitralh, R, e, D WL aPm B. sl R, siltal, sm dw wah
C oy, aibefl, whe, wmorh, w90, wFm D sl o, ddal e wdl @fm

68, ITPO stands for
A. International Traders and Promotors Organization B, India Trade Promotion Organization
C. Indian Telecommunication and Postal Office D. Both B and C above

ITPO sud f wgem e b~
A gooimma fed ge deied sftmgaee B. sfzm Pz drima sidengdma
C. gt MegPda e deed st D. B e CEl

9. Difference between a compiler and interpreter is that the
A. Compiller executes line by lin and Interpreter executes whole program at unce
Eﬂnnﬁlﬂemuubuhmmummmmmm by line
C.Cuuwihmwmhuﬁmm-hnhmﬂm
0. None of the above

pr—E S L
A ﬂm:mmﬂ-ﬂmaml#iemaHMHmﬁmﬁ gin &1 dm i
B mmm-mwumtmimmmmh

€. i e gediee @ it o o P e e §)

D. augen @i 1
70, Forwhat logic gaie , the output is complement of the 11ptt
: A AND g i
D. XOR
- C.OR

wu 4 upa P e 87
NOT
o XOR

h*ﬂﬂ‘ﬁ*'ﬁ"‘
- A AND 53
C. OR

—_——— ND G506

Latest Sarkari Jobs, Govt Exam Results, m
. PATNA Vacancies and updates on one click
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Which of the following award winning films had no dialogues 7

A. “Chetak B, “Dassi® C. “Pushpak” D. “Salaam Bombay"

Frfefon # & @V geepn e & Rred amiam o8 8

A, dam B. =i C. ymm D, e o

The Indian folk dence “Cheraw” is also known as

A. Bamboo dance of Mizoram B. Batukamma dance of Andhra Pradesh
C. Bihu dance of Assam D. Garba dance of Gujrat

wredla dgen O 3w o & R @ o
A el @ b o B. afa wim @ wgoe g
C. mww # fig oy D. T ® TR

What is the name of the cruise ship that met with an accident in mid-January 2012 off the coast of Ttaly resulting in mamy
casua|ties 7

A. MS Majesty of The Seas B. Titanic I1

C. Costa laliana D. Costa Concordia

W T W weige o e werell 2012 o) gl @ ww e o gEien wer @ . Rl st S geee gy A
A, R = gE, faed B. el 1
C. #wa gorfaarn D. #ye atawifia

Kushoki Bakuls is the new name of which Airport 7
A, Guwahati Airport B. Bengaluru New Airpont
C. Leh Airport D. Srinagar Airport

il argen few v 2@ an w87
A awd) gaf g B. el =y yuy 9
C. #¢ su 5@ D. sheere gmd W@

mmwmuEWmCMI-limm&mMﬂl,ml 1ta31.12.2012are:
A Colombia, Azerbaijan, India, Portugal, South Africa

B. Colombia, Germany, India, Portugal, South Africa

C. Azerbaijan, Guatemals, Moroceo, Pakistun, Toso

D. Arerbaijan, Germany, India, Partugal, South Africa

sigen g g aftwg @ wbuer sl s Rere s o1 sl 2011 @ ez ow & B
A. ool s s, e i sdie

B. ®sfm odA e, g, aiie e

C. swoltar e s, ofteens

D. s, ool s, qrbe il e

| : aomnolss and Updetes onons ok oowvore R
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76, Direction :

Examine the following three statements and choose the correct answer

from the given Optiins
Sttement no. 1 -

National Insurance Company Limited was incorporated in 1906,

Statement no. 2 : National Insurance Company became a subsidiary of General Insurance Corporation of

India (GIC) in 1972 when General Insurance Business MNationalization Act was passed

Statement no, 3 : National Insurance Company has been delinked from GIC in August 2002 and at present in OpCrating

a3 a Govt. of India undertaking,
A. Only statement number 1 is coreet

B. Only sutement number 3 i cormect
C. Statement number 1 and 3 are comect

D, All the abive statements are comect

Frdm

Frmfeefinn wedl ) wmm & Bl va el g faws @ ol o g
T 1 AN i sl Bie vo0e & Pt g
W 2 WA G B 1672 | e it ettt sl g (GIC) # werrs wft one amre Sm o aire sfifies
it gan |
W 3 VA §ER W e 2002 A SR A (GIC) A wa @ el e el e e w0sn 1 g aaes 6w S ard e ol )
A #ad T 1w B B. #va w3 5 §
C. dud w1 w3 @ B D. wll s wen §)

T7 Dnrection :
Find out which of the following staterments is‘are incorrect.
Statement no. |: National Insurance received Best Auto Insurer 2010-JD Power Asia Pacific Award
Statement no. 2 ; National Insurance is the second largest non-life insurer in India
Statement no. 3 : National Insurance received CNBC AWAAZ award in 2011 :
temient B, Statcment no.
2: ;teﬂm:; D. Statement numbers | and 3

"l\.

hﬂﬁn: CE R EPE s B

-s:hzam;ﬂm aild) sewitt= a0 — A W g ORREE geeste e R
m:mmmn@tmmmmnmmmam

@A & AN FEE A 2o § CNBC AWAAZ gres s R )

- T e

s, M“mmmwmmﬁ“‘mm“
mn*mmmnnmzmmﬂam:-mv e
A, BCGC B. MNABARD C. SIDBL

9. mmm:nmm o o sl
m“#'-:“xl ¢ warad D. WET

o mtﬂur: Michelangelo . Rembrandt D. Picasso
v higorepe Sl L D. ferd

Latest Sarkari Jobs, Govt Exam Results,

Know More
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GENERALIST
l.‘m;_-;*’ for pext 4 Qucslions, Study the dats below and » i
i 4 o foy fdw - 0 iy oy mies w b IJ-"I- JI.I.:.I; ."I:“::-:'u? -?::fs.:l i Bl
:l-*:;mh State I-M:-;;;E %}-2001 Literacy Rato(%)}2011 Increase
[t ¥ 91 .
] Mjmm [ IEE REH a1_3 :2:,;:
e o, 12 73.19 §7.8 14.61%
it 7.4 7.4 .
5  HimachalPradesh Bergs gitn THAR B3R gr:r-:,
&  Maharashira EHEN 76,88 29 B D:ﬂ
; : i 02%
T Sikkim ffbiet 68.81 R2.21 13.39%
B TamilMNadu Al g 7345 B3 6.85%
9  Magaland Alidng 5047 0.1 19.63%
10 Manipur e 63.74 TH.E 16.06%
11 Uttarakhand AT T1.62 0.6 T GH%,
12 Gujarat Al 69.14 79.3 10.16%
13 'West Bengal uffE @A GR.64 T1.1 B A6Y
14 Pusjab L] 6065 T6.7 7.05%
15 Hl.l'jl'.ﬂ Elvapy 67.91 Th.& B9
16 Kamataka wefich Bt B 156 K.96%
17 Meghalaya Expan G156 TiS 12.94%
18 Orissa i £3.08 715 10.42%
19 Assam EUT 63.25 na 9.05%
20 Chattisgarh weluifia B 66 Tl 6.34%
21 Madhya Pradesh sy 60.53 T0.6 10.07%
12 Utiar Pradesh A udm 56.27 69.7 13.43%
23 Jammu and Kaghmir i o ee'y 55,52 6R.7 13.18%
24 Andhcs Pradesh i 60.47 &1 723%
25 Jharkhand LR R 31.56 67.6 14.04%
26 Hajasthan LT R 6041 67.1 6699
24  Arunachal wemjae win 54,34 67 1 2.66%
218 Rihar g a7 638 16.80%
India i &4.84 7404 0.20%
« 2011 census results shown for Goa Wi & fay mon o wwmes aofifa )
081,  Which state witnessed the largest growth of literacy i term of pereeniage? ;
A Pracesh B. Nagaland . Fharkhand D. Rihar
uftvesm 4 e i e T WA s o
g p——— o T | W | o fier
. Which state witressed the largest growth of literacy in absolute lerms? 3
i A. Magaland B. Tharkhand C. Bihar 0. Canmot be determined
favm o 4 e oY e o # e s ol
A AFTTAVE | B W | e D At
. In 2001, if the popalation of Orissa was 36,706,520, what was the number of literates in Orissa?
o I:I.Eihs B. 23155725 C. 23156725 D. 23157725
w00 A, ot crreEm a 70620 W | P A s e W o A 02
A DTz B 218758 G- % aaliet
| IF79% of the males were literates in Orissa in 2001, what was the percentage of literate females™
ca i B. 51% o D. Cannot be determined 5% sy 4 =4 20 §
= witwmn o
mtuﬂnmiﬂwmﬂ'l S -

mhmlm:mmnmnmumumn.mmqmmumm
mm:mmmumhmwmwmmmwmmmwm

3 can be answered either of the staterments alone. d
hﬂlﬂl&. E:ﬂqn-ﬁ-mhmzﬁﬁ;mmmmmmmhwmﬂnrhww
mmuﬁw—nh-wﬂmwmﬂgmhmmwhm #
ST 4 W e P - e W W AT T e | ”"m'“'""’“m*ﬁ;mmumm
l'ﬂ—*mimﬂﬂiihnﬂﬂﬂlﬂhnﬂmmmﬁﬂnhﬂﬂmm
A = it e e v o e el o  w d a fyn o
cg-ﬂm-mﬂﬂl-nmm'!hnmﬂwmm“ s i ey = e e
[ g — i ey oy e e sy T s e et s oy =1 Py o e

ABC, what is the value of angle C7
™ ka_m_—lwﬂi‘”w
Statement 11; The triangle is an equilaicral triangle

faet P A e ¢ 90 et v Y :
i | wm A abe B ot e we o fh B

et — |1 g o g, g 1

Latest Sarkari Jobs, Govt Exam Results, T —
UDCATION : PATNA Vacancies and updates on one click
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Directions for next | Question: Each question is followed by two statements I and 11, Answer the ai #5423

Choose A !tihequeanumanheanw':redhvumny.nm ol the statements alone. but juestions using the folle
Choose B: Ifthe question can be answered by using either of the statements alone.
Choose C: If the question can be answered by using both the statements together, but cannot be answered with any of the

Choose D Ifthe question cannot be answered even by using both the statements together,
WIS 1 0¥ Ty S - ude v & qig Q) d2a 13N 1 E PeEfefaa s ¢ HAUR w2

A gd - ofd usa &1 aer A duEl E O ddad U &9 BT {uali B R Ghdr ) fhA #a
B a4 - aft uss vigav vea & Q Gaa BW o werd o1 <uay o R e o

C g4 - 212 ue4 31 R 41 o041 S 0d Wi ST & (31 51 Ubdl 81 b dact Bl U deld &1 Al de = [
D &4 - afR usd &1 Sux Q41 vyl @1 v @ 99 &l A fRar o wed @) |

WINE Instruactions
notwiththe other statement alone

stateiments 3 {mne

b ddy ¢
ol HU HUA BT QUL &Y A4 (20 i aa

S b e] £

Q86.  Avegetable vendorsold 100kg of potatoes in one day. What is the profit eamed by him?
Statement I: He bought the potatoes at Rs. & perkg.

Statement I1: 75% of the potatoes were sold at a profit of Rs. 2 per kgand the remaining were sold at cost price

Yeb soll [dsbell 4 U <4 100 fdb 101 3H1c] 491 | 39 Tberr ofry gan?
dU4 | 3UA % 8 wdld. . Higl Wi |
®oid || 75 wlawd s ¢ 2 uld Bl & aM W @8 8k 9y By wou W IS |

Directions for next 2 Question: Study the data below and answer the questions that follow-
il 2 uzdl & few fAce - A1a QU au dieel & 2@ AN Qv qu gl & Ide o

W1 and W2 are rwo different websites that had visitors using different web browsers. The information of the visitor’s browsers are given in the
two figures. ‘
gfe w1 &R W2 gl Helt-detl deuige 8 (58 Q@4die] 4 dd gideitl &1 Sudll &¥d gU <@l 2 | adAdicl & greurt @ qadl o disg ¥ Q) ag ¢

i i Wl

.
o
i
'\. aa
-'--
o .
L
Ml T s
" o]
: oy
,-.n 'r'.'_ _r,:* "
b
e | P I

: w Q87. If W1 had a total of 14652 visitors. what was the difference in the number of visitors coming through IE and Chrome?

ﬂ?“’ R A .-A. 700 B. 750 C. 500 D. 850

11 “:"3“. gﬁ Wi & @@ 2 a1 14652 4 dl ¢ AR HF @ GRY e QU arell @) e ®f diexy ¥ oer?

SET HERe s ) 700 B 750 Y g e

: e r of visitors through IE and
ﬁ“ H’ﬂlpersms who
Chrome. Then what Latest Sarkari Jobs, Govt Exam Results,
A. 29412 ¥ Vacancies and updates on one click
3 A By M

ﬂjﬁ &1 Suda weAda 50 @af¥udl 4 w2 dwd wEy wiE 1 guan el edi db W Seqyarell @) e Wxres gl |
aguige &) Suraidl $1 gt G aul o4)?
;WH B 14706 ¢ 7353 D A8l ddia oI Habdl |

| S wons that follow:

A Dmom fm next 2 Question: Study the data below and answer the questions t

 amd 2 ge & fag fade o Aa fag ay diiﬂﬂ @ 2 ole [y Ay gl & e d

§ e Serses Chat

cndud

Samx mll:h 5000 the first time” :
ﬂ!ﬂ& 19992001 (‘fml}ﬂ'}' 2009 D. Cannot be determined

Q89 Inwhich period did
IR AL T991-1993

Tk = e ?
; ?;::i:a:a“m e ™ ‘::: m .y 2:? 2009 D 48] @argr o e |
Q% hﬂchpﬁﬂs did the Sensex touch 10,000 and 20,000 respec “l{.vtm 2007, 2009 D. 2008-2007, 2005-2007

A. I‘Hiwlm 1999-2001 ﬂ 1999-2001, 2005-2007 €.

; 2007
Mﬂ#mmamm*”m;qf; 20052007 (' 2005 2007, 2007 2008 D 2008 2007 2005

UNO: 659273
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Directions for next 4 Question: Study the data below and answer the questions that o))
- CHOW !
Country Population density 1 . Ares T =1
any 333 % Population
Fﬁm‘"" T ;47-“21 8,22,17 800
|  United Kin For s e o
oy gdom ll’;‘; | 2,44,820 ﬁ;f':g;:;ﬁ
b | Y a1 .3,01230 5,97,15,625
pain B ‘ 5,05,782 4,67,71,37
Population density 1s in persons per sq. km, area is in per sq. km. SUEL
A 4 v @ v Ady %ﬁqwaﬁﬁaﬁaﬂéﬂmﬁqwuﬁta%mﬁ
| owen e | APl AT
233 3,57,021 8.22.17 800
N b 5,47,030 6,36,01,002
244 2,44,820 0687
s | 44, 6,06,87,000
. | 3,01,230 5,975,625
5,05,782
. | = VAR 46777375

Q 91. 1f99% of the people are literate in both Germany and France, what is th
France taken together (rounded off to the closest whole value)?

A. 144360614 B. 144330414 C. 144630616 D. 144660555

¢ total number of people who are literate in Germany and

irﬂ."\’iﬂ?ﬂmmﬁﬂmuﬁm&ﬁmﬁﬂmﬁaﬂ?mQ‘Fﬁﬂfir;,-.—ﬂﬁw%ﬁmﬁﬁﬁﬁatﬁﬁmnwmﬁwﬁmmﬁm?
A 144380814 B 144330414 C la4830618 D 144860555

Q92. Over the next five years, if the population of Spain increases by 10%, what will be the increase in population density?

A. 6.2% B. 7.4% C. 8% D. 8.6%
il Gig anl 4 Ui} g @) v 10 widea 4¢ Wiy o) Wl v J [badl gl €07
A 62% B 7.4% C 8% D 8.6%
Q93. What is the ratio of the population of United Kingdom to the total population of Europe (as percentage)? Consider the total population
of Europe to be 84,20,33,572.
A. 7.0% B. 7.2% C. 7.4% D. 7.6%

W%mﬁmmWﬁ@mmmﬂwtmﬂ?mﬁ&z[miﬂﬁr-rﬂmm,zo,narztl
A 7.0% B 7.2% C 74% D 7.6%

. If the growth rate of population was 0.09%, what was the population of Italy one year ago?
i A. sﬁs‘rs& B. 59661737 C. 59661900 D. 59661929

Lt s B oR | gtest Sarkari Jobs, Govt Exam Results, m
A 59667564 Vacancies and updates on one click

Directions for next 1 Question; Each question is followed by two statements [ and [1. Answer the questions using the following instructions:
Choose A: If the question can be answered by using one of the statements alone, but not with the other statement alone.

" Choose B: If the question can be answered by using either of the statements alone.
Mg Imm: bamwwad:yyusingboththe statements together, but cannot be answered with any of the statements alone.

Choose D: If the question cannot be answered even by using both the statements together.

=

: et & JER 2
am o forder — W 9% @ W% @ e | 3R |18 Pt s @ SR i RO
?T*mm o d | “i!meﬁmmmmmmmaftmw

- mmmwﬂiﬂmmwmwwﬁﬂwﬁmwm Bc ekl
gg-zmﬂmmmﬂmeEMUﬂmﬁﬂﬂﬁmmWmmwmﬂm

Bﬂ-ﬂmwmﬂﬂﬂw“mmmqﬂmmmm

ins?
Q95 MMA-&$hhpm_h:lkm&ummcﬁ,&mﬁwm&-ﬁuc:fﬂhﬂw
S Soament T Car A can uccelerate s the rte of Sm/sec’ whereas car B can acceleruie v P70
Statoment II: The highost specds of Car Aand car B are 120km/sec and 160km/sccrespect
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. mmm B.C.,D.EFG

*  [E is not the neighbour of T and F

. malumkﬂnfllmmwhmenahm[u.

F'InIHlﬂhulhth!ﬂuFC.wh:imt}ltlﬂ'lrrm-d.lﬂlulcllu[H

* A second to the right of 1.
M:Mi:qﬁ:nn:ﬁMWmmﬁmﬂqwmdme-

+ . 13, C, D, EJF,G st T wan e i ] i T

* E Dxalr Eww owgilfl a8 81 el

* B.H#® iy gow § o D & ofs) dwea 21

* FCdaiy s & o H o drs ami &

* A D#® wieh gem &

6. Who is sitting immesdiately on the right of D7

AF B G i D.E

D o S il o b

A F B. G CC D. E
097, Wha is sitting immedintely on the left of D7

A F B G C.C nE

D & &% am &= & ¥

A F B G C. C D E

Directions for next 1'wo Questions; Study the data below and answer the questions that follow:
m:ﬂimm-mmWMﬁﬂmmWMimqt- T

Wi oy 0 st iy I i o

a
e LR e R L p——— =

098, According 1o the data, when was time last time when the growih rate of GDP of Developed countries was higher than that of emengiag
countries®

A 1990 B. 1999 C. 2004 D, Coumnet bs dotonmitig

siegl & wpom faed an ow e S o B & oG o o Peeda G @ wd AR

A tesd B w8 C 2004 D ool ware e s |
099, In 2007, what was the growth of GDP of Fmerging countrics?

A BT% B. 6.3% C. 83% D. 28%

o gpoy & feefia &l o8 dvld 4 gl @ g em A7

ART% B 6.3% CE% D2-8%

sons: Fach question is followed by two statements | and [1 Angwer the questions using the following msirucrions:
Chiouse A 1N question can be answered by using one of the sitements sbone, bul m with e other stalsienl alene.
Choose B: [fihe question can be answened by using cither of the statements alone.
Chaose O 1 the question cen be answered by using both the statements together, but canaat be arwwered with any of the stasements d/one
Choose D Ifthe question cannot be answered even by using bath the statements iogether.

S S o Prdm — s e e | abe ) P arpet & sepe aw @ wo &
l-'—-‘-ll"-lﬂnﬂ'tt-l.!-ll-m-:-mimhnﬂ-mwsrl'l'llu-ﬂ'ir
B i — i ey o e ) 9 e S e e e o i o
C:-i_-mﬂﬂ-wnm-Mnmiﬁhmn--whnrhnmm
bﬂvﬂmmﬂ—l-n—ﬂﬂniwn‘-mm

many caididates appeared fof & particular pesl wene from Uis state of Kerala”
g LLMﬂrﬁﬂdﬂllqmﬂ'ﬂl in the test, 25% were from South India out of which 3t were from Kernis
mmmmwmmwwmmnmmm

il § & et et o b 7
:T:!.:“Lﬁ“lﬂﬂ;Mlﬂﬂiii:ﬂlﬂmﬁlil‘l
'-llﬁihﬂmhim#ﬁ#rnmw i

UG 6597

= ~ Latest Sarkari Jobs, Govt Exam Results,
 LOCATION - PATMA Vacancies and updates on one click
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{J"H" ?"rl"j' fﬂ-

Directions for nex § Unsestion: Fac
Choose A 1 the question can beanswered by usi
- ¥ using one of the sai e ko
:‘Inm H Ifthe qunﬁ!w can be afiswered by issing either of the “:‘:fll S abome, but not with fhe othicr statement g -r:uI g o
“hivose C: [l'ﬂwqummncmhcwwrﬁdhyumngmu' S

Choose 1. | jon e Statements together,
ase D: IlNthe question cannot be answered even by wsing both (e R Ty ::::::nnl be amwwered with any of the Starnast
. alone

b question is follow
Hlowed by twy Materments | wmd [] Answer iy
LRI AT TS i i,

ﬂnMimm_mﬂukmﬂm 1y ||!|F-‘fmnuf;¢ﬁu\qum1h'r
T LaaL k-

= i ST 5 3 fian o e

Dﬂ—“mﬂmmmm'ﬂmmnsﬁahmmﬂm : R 7 = R o e

Quo1. A dishonest trader mixes $00gm of i i
rice? ol impurities o every 10kg of rice 1o make soMme entra profit, Wha is his sodal prafit in percentage | il

Suu:umtl;mmmwﬁcnns.aop:kgmdgcllmh 13
per
Statement II: The trader sells on average 35kg of rice per day g

wE Aur sl gy sl A war @ frg st 1o Mo s 500 v avgf e & 1w e e g

P 3 uhee faen

W — | WO . 30 S T arfm # N v 3 o e e
| | wmord afiee oftfie ssfkan ams deen &

Q102 Whatis Vijay's age at present?
Statement I: Vijuy's elder brother Ajay, wha is five years elder to Vijay, was twice the age o Vijay 5 years back
Statement 11 A fter ten years, Vijay will be four times of his age five years ago
Fitrar offt mretsry @iy et B7

T — | firern o e Ty S, o v oy o e & o0 ow s ot o Mo e e A ST e
g - | e P e o o ot sl aw R o o 2w e e oo

0103, Pand () caneomplete a job in4 days. In bow mary days can Feomplete the job alone?
Statement |: Pand ) together can complete the job in 2 day
Suztement [1: R is twice as effickent as ()

P afve Q Bl e o8l 4 Fiyen & vt B ) Pt g et Bt P & g v et 7

g | P i Q ww wr # 7 5 A g we wsd B
wa () T, Q o aren g am B

QI04. What is the area of & regular?

Sratement [: The number of sides of the palygon is known
Statement 11: The length of each sdge af the polygon & known

e yaif w1 @wat e v 87

e o spamat o W g
:Jmnmmammn ks
-ﬂnum;mmmammhmwhmuw-dm "

Murtiah Muralitharan has wken 500 | .
= mein.#h‘r}iz]l-ﬂlﬂhﬂm‘m{_
{rums

Statement I: In test cricket, his economy e
per wicket taken) is 22.73

Statement I1: Fie has bowled 44039 balls in est cricket

o s e Bk 3 a0 e i e 51

it e 1B TR
_ e e e ey v (it afs e UE
:-:I‘l- tve firbe 4 aos TR E)

o e 44 o o ) o &7

anll
=) 1 t#mniﬂ-.ﬂm:wﬂdc#uﬁwnﬂ

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

Know More




SET-B T3l of 4
GEHEHALIST
[hrec L
rectiong for next 4 Question: Answer the questions that fjlo | ing the fisl
asir 10 fnllowing e Forrran i oy

P@Umuru'F‘iumt

Ereater than °
g?ﬁUmmq:_;umumJ}wlhug' roy -3 :
P:l}mmsll"!u neither greater, nor smunller than 0 F o a

4 ) means Frumrﬂmgml.crnmnqnultu{?' 5 : §
A{?mu.n.-.‘l"uncilbmunullnr. nor equal ko

L0 - P&
Choose A: If Conclusion I is true bgt noe ;I 5 e g
: i ; conclusion 11,

Choose B: If Conclusion I1 is true but not conchasjon | PEQ ) P>&
Choose C: If both conclusions are true, e el
Choose D: If neither conclusian is frue, PT.H'Q oy T £
' - O’

m‘ﬁtmm—ﬁﬂqﬂlﬁn‘lﬁﬁmmwmﬂm% -

PEG ™ ot & s P, Q % war =i 1 PUl) w1 ot & PO = # ey 8 4

mnﬂthnqﬂqﬂmtamaﬁm
ranﬁtﬁnQﬂwrhmt.qmt;vlh

PiEQ oo & B PO & amr = &y
&ﬂ.!ﬂﬁwﬁ—l!ﬂﬂﬂhqm—n'ﬂﬂiﬂluﬁ aft Freed— | =t o 2R B - ol 3 @

PSQIIHH‘E:I%?,Q#-IH’I‘JmE-rEIthl

Cu¥, oft 3l Presd vy o D g%, = wnf Pl mh oo og
Q106. Statemenis: A& B, B%C,DSA < 3 ™ € £
D Conclusion: D # B Conclusion II: € @ D A2 BT.C DEh
- A>B ep>c DA

T - ARR, BY%C, DSA

e 1-A DB . = e
(e w4 Drad>=p= ¢
Q107. Statements: X #Y . Y@ 7 Vad
A Conclusion r;x.éz Conchusion Tl X § 2 Nt Ve Z
e - XHY, YEZ b1k Vo= =
Premi-1: X@Z Frewi-Il: XSZ i e
Q108 Statemens: AL B, C5D ANC e
I) Conclusion 1: BS D Conclusion 1 A & B AP < Dl A = C“'
warr — A&B, CSD, A%C 5 o EE -
et 1 RS0 T ARR 63D Pen
109. Siatemenis: M %0, Q@R R@T ;
8 {hﬁhiu::hllql‘ o Conclusion I: Q@ T DRy P 5

wpa&, oeR , RET

Answer the questions wsmg e following insnctions:

ﬂ-rmm!ﬂr =
o1 MAT foverd |1 i1

- . 5
Directions for next 1 Question: Each question is followed by two statements | and (1.

Choose A: Ifthe question can beanswered by using one of the mlk:::ll not with the
Choose B: If the question can be answered by using either of e satements ; ;
mmg;lm-q-uﬂu ::hcund :mmhmw.mmumnm amy of the stalerenis alane.
Mﬂ:lfhwmhﬂnﬁdmbmhhﬁhmw.

vl 1 g b forg Py — wohn v b e o ae |18 Preifie gt & s el @ av

Aghlﬁmﬂmﬂmumnmnmnn—-miﬁnmﬂm-nmnaﬂmwnﬂw
- st i) e WY e g ey e fian 2

::-::::M—Hﬁﬂwﬂ'-h-miﬁmﬁn v g e e = i o v

nﬂ-ﬂmlmﬂ-ﬁuwﬂmninh-mm

e gmmkﬁﬂhlrﬂdﬂ
O At weighwas kg when h was 6 years ok
- ¢ 11 Arjun's weight was 28kg when be was 7 years old

o e e o o g o T
:-:-*;d---mmpﬁ.um
-'I—u--q-tlllﬂuulmmnh.m i
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SET-B Page 22 of 24
GENERALIST

» 3 iwcessarily in the same . ¢ seience, Civil, Chemical, Michasi;
Each one of them has a liking for a 4 -t Bna
L Thl'nl:n[lhmnmgim_ ng for & different colour - red, blue, green, yellow, pink, orange ard BreY, nol necessarily in i
. Alilﬂlbtm1w}ﬁhwwﬂdn¢gnm,m IT e
™M i
*  The onc who studies Civil likes the colour ;Ircyir:d f.h;"-”'.“"
2 E:_whm.u'ﬂ_‘-umnt_ul’l"-. studics Computer Science and likes the colour Pink
G's specialization is Chemical and likes the colour Red '
*  Fisagirl, studics Mechanical and likes green. :
*  Cis aboy and likes Crange.
# B likes grey.
*  The onc who likes blus studies Flectrical.
H#4w-ﬂ:lﬁgf*iml;:rinﬁ:w£¢ﬁﬂﬁa&q&qwm-tmué:-
F a e ABCDEF G = A amai- wgey Mgw, Mifde, swo-, oty
mwﬁﬁg?hmmm&,mmﬁﬂmm!qﬁtr
E L ¥ mete - AR, e, o e, meml, wmr e i !
St % e 1 TR, S o L oft s wn e w8 of &
* A WO i o E o A o & s d 8
- ﬁmtmﬁemmwmenwmt
* E,F @ wen &l gps fee aoh & o ol qanh én iz b
» G = T s v @ o o w9 e B
= Fow wpd & ool e ogof & o ol on o aun 8
= G wem € ome 99 o 4 ooEE 8
» BE gy i gwE 2
o il M o wein B as Rl @ o 4 8
0111, Which of the following is the set of girls!
A. AFF B. BEF C. CFF . DEF
Prsfaftes & @ wafvd = dz #¥=-w 17
A AFF B. BEF . CEF D .DEF
0112 Which subject is studied by D7
A Electromics B. Civil C. Elactrical 3. Mechanical
D & smra-gE T
A TEwie B fitw C frgem D utf.
113. Who is studying Electronics?
4 g B.B c.c o.B
sdvagirn Plean snwe g B
i B B CE DE
 Which of the fiollowing combination of person-colour-subject is . - D. G-Red-Chemical
s :h:-a qs'nm . B. C-Green-Mechanical  C. D-Pink-Electronics
: a1 B v i ol 7 i |
r;::t'm- Swei B Cvo-difw  CDyeh - puthe P
: stuteasents | and 11, Answer the questians using the followsng 1
WM: s m"b:’ - H%“dmﬂ?ﬂm 'lh:‘riulu-‘iﬂuh: other sisternent alane.
Choose A: Ifthe question can be snswered by using 08 (hie siaiements alane. ! alone:
Choose B. 17 ihe question ”:nma““nmhm“mw.hlmﬂk.ﬂ*ﬂdmmwlﬂ'w
C: Ifthe question can be answered ! thie shaterments ]
Goonee D fthe question camot be snswered evenbyusing oo B0 SERT0 L g @
s e @ o2 @ wad (IR e 0 i g (e o e
m‘m*mmﬁ-lumn—n-ﬂnﬂhﬂmﬂ“ﬂmh“
h"—*m'm -mﬂ'h“ ® v 11
g'u_nmmmﬂ‘*‘“““-Lh-mtﬂ""“"'""m" firar an
C -ﬁm-mﬂﬂww:‘mﬂ“-qm.mm
- & ciroumference of the circle?
QL1S."Wihatis e circle is equal 10 the ares of 8 SGUATE
I: The area of the i 100 5 €
w“:m"ﬂfhw
0
o o it e gy o womn B
g
e - W
e X e
_—'—'_'_'_-_-_
— o .

ang 13 TYPER
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SET-B
GENERALIST

Direction for pexy 4 i
uestions: Refer 10 the data below andl arwwer the

* Inaspons ¢
(L} luullplcr...‘ilupur! imtrun.-l-.un.ﬂl, BC. D Eand F e

':“‘hl-d.l.l,ﬂd Hiw:
Ckey, nol necesss
On a single day, on| ssarily in the same order, Badminton, Buskeibgd) -
: won fﬂﬂtw|mmlmwm: k' ke | ot

quisstions that )], A

achcs six EAMics

when none of fhe
Cricket i played.
on Sunday. He ig the Riacim i

B ™ON ifistru-,
mm@:r badminton 5 plaved s
E, who is & foothall MSIruCtor, can come only ﬁ E‘hmdwﬂd - g
B can come anly on Mondays, :
The day after F comes will be a rest day.

BAMIES Mte Lutighy

;
3
:
g

C“ﬂmﬂmunl}-mw

3 E'EHMWHWM|
. Mﬁﬂmﬁnmmtmmmmmmm::
- Aaﬂmﬁmmlme“maﬁfﬁh
. mmmmmtmthmem.
- Chmmmmgmwﬁmmmh
* E o qeiis aptve & dwd e w1 wew By
» B dum doww w8
* T A F am & 998 s R amm m B

Q116 Which will be the rest day?

A Tuesday B. Thursday . Saturday D. Canned be desermimned
e w fEn e 4
A e Bm' C i D = W o e
(117, Which game is played jus: befiore Kabbadi?
A. Football B. Basketball C. Crickst [, Badmiston
wagd & S ved W9-wW dF AT @ Y
A gedia) R wdedia C iz W EFCEET]
Q1R What is the correct ander of the sport mstructons sccanding the sport played (Moniday s Sunday (!
A. BECDFA H. BCEFDA . AFDECR D BEDCFA
i T st % s dhe anptww o et e e A i) e
A BECDFA B BCEFDA C AFDECB D BEDCFA
ich game is F involved with?
b T::.hhd: 20 B. Badmimon C. Cmcket [, Baskethall

d & ws g B
iﬂ:mﬂl B M C féEi D et |
. Angwer the questioes using e fllowing

i and 11
Directions (uestion: Each westion is followed by two satements | a
J?;tm;;ﬁmmtm-qdwmwufﬂumuﬂm,mumwlmuunmﬂmnﬂﬂﬂ
mmh:ﬂmqwﬂ'mm“"mwm cither ofthe § m htmmﬁdni'm“rnfﬂ-:wdmt
B.. Ifthe qumliunanbn-wmdby using both the statements bogether, canni
Choose C: meummwmmumﬂwﬂﬁdﬁm‘mt e
- urt W 2w | ale (o B Frefidee 3 el
e A% ﬂﬂi““m-&ﬁnﬂhdlmd&ﬂw‘wﬂm

A _ o g e S A e g 'E“‘“mm
'::_ﬂw"mﬁ*;;:‘::m:n:mmimmm“.-mmu
c:ﬂ'l_:::r::!iﬂwlﬂw-ﬂ'ninhnmh
Dw¥ -
: i rx
What i walpeof X ifX 18 o pemitive integer ! & i
o R o o the equation X* - 9 =0 Hentormen!
mi;x--pmuﬂ
di
- e o —l.-u:|tx-lrl=1"'
Iimnlﬂl ppe 1
whwm X9 |

wa -l X
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English Page 24 of 24
Directions : Read the pass i
AEE Kiven below carefully and NSl
answer the questions 121, that ol BELOTINg 10 the contents of the

The earliest authentic warks on European alchem
M Magnus. In their treatizes they maintain
MErcury werne removed by various degrees of im
transmuted togold . This elusive substance was re

¥ are those of the English mank kg

itd th
at gold was the perfect metal and that interior metals suchi a9

perfection from gold, They further asserted that these base e
ferred to as the “philosophers stone”

Eer Bacon and the German Ehilosopiuer 4
¥ i & Lo #

et aned
tals could be

::ﬂ:m’;‘:::;:;:};::?nx:ﬁ:fm accustomed to keeping trade se
3 : 3 tarm sun was used for gold, moan for
base metals. This convention of substituting symbolic language attracted a group of mysti
““_"ch for the perfect metal with the struggle of mankind for the perfection of the soul. The philosaphers began 1o wse the
artisan's terms in the mystical literature that they produced. Thus, by the fourteenth iy, iy foad delﬁ:l r'm,:ll' L
groups of practitioners — the laboratory alchemist and the literary alchemist. Both groups of alchemists continued
throughout the history of alchemy, but of course, it was the literary alchemist who was most likely to produce & written recarnd
therefore, muchof what is known about the science of alchemy is derived from philesophers rather than from the alchermist :

crets and often resorted to cryptic
Sibver, and the five known planets for
cal philosophers who compared the

D wirk

5 who
laboredin laboratories.
121. (1) What is the author's main point ?
A, There were both laboratory and literary alchemists.
B. The philosopher's stone was essential to alchemy.
C. Roger Bacon and 5t. Albertus Magnus wrote about alchemy.
0. Base metals can be transmuted to gold by blending them with a substance more perfect than gold.
h‘.; 121. (2} The word “authentic” in line | could be replaced with
A “valuable® B."genuine” C. “Complete”™ D, “comprehensible”
121. (3) Roger Bacon and St. Albertus Magnus had the same
A. nationality B. premise C. profession 0. Education
' 121.{4) What was the "philosopher’s stane * ? i
i k A mmmmud withwﬂ B. MEEH‘!I‘“ that was newer found
3 C. Another name for alchemy D, A
121.|5) Who were the first alchiemists ?
. Li [B1s
5 bt B. Wiriters C. Artisans 0. Linguists
3 +0 = 12 maris
i is by setting an example to others, Once Hmiii'ﬂl,mﬂl_m“‘iﬂm

e

“ll‘mmmﬂl m': - m::gtmlrrinwhicn mankind indulged. He was a quiet Hmwhﬁrﬂ ::-:Hd

e Il"-l""' uhuﬂajewh!rehﬂiﬂd.Hmmallhuu:hMﬂqummu ag .

wmmprﬂwu mmhmabumundmnwumm'.mm_mmypﬂm
hhmmmhﬂmmmnmmmmﬂ

" thinking, and at last decided 10
where he lived was a very high mountain from the 109 &' #2

and was quite successful wit

= a whale, Mot far :Wm
oples of the world, 3

amd PE“ he began to climb ta
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